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1101[XK1E EE 120 1200 0 1200 10 0 0 0 1620 0 864
EE 15 225 0 225 15 0 0 0 0 1080 0
GhH 135 1425 0 1425
1113|FEAS  [dtEE 300 3000 0 3000 10 0 0 0 1944 0 972
GhH 300 3000 0 3000
1141|5848 mE 4 20 0 20 5 0 0 0 2484 0 864
=) 5 50 0 50 10 0 0 0 1944 0 1188
& 9 70 0 70
1201[83% % 260 3900 0 3900 15 0 0 0 2592 0 1080
& 260 3900 0 3900
1203[F ¥Ry [#HE 100 1500 0 1500 15 0 0 0 1134 0 1004
E& 31 310 0 310 10 0 0 0 0 702 0
GhH 131 1810 0 1810
1204|Gih—JL |[EF 30 300 0 300 10 0 0 0 0 864 0
GhH 30 300 0 300
1207| B & [ED) 850 85 85 0
1209| B & B 2 6 0 6 3 0 0 0 0 1512 0
) 2 6 0 6
1221|=vE [&0) 14 20 0 20
1227|k%E EE 20 8 8 0 0.4 0 194 0 0 0 0
2 if] 100 20 0 20 0.2 0 0 0 0 97 0
(&) 120 28 8 20
1245 /MR EE 451 180 180 0 0.4 270 0 97 0 0 0
Eh 826 255 180 75
1301 |HF RE 1 5 5 0 5 0 432 0 0 0 0
EmE 147 74 0 74 05 0 0 0 227 0 151
=) 26 104 0 104 4 0 0 0 2268 0 1512
HmE 46 230 0 230 5 0 0 0 3240 0 2268
(&) 243 525 5 520
1311|F<F I B 18 72 0 72 4 0 0 0 0 3240 0
(&) 51 204 0 204
1321 [#R iz 28 140 0 140 5 0 0 0 3672 0 1944
(&) 36 180 0 180
1331 [MFBw  [dbEE 50 500 0 500 10 0 0 0 0 1944 0
(&) 50 500 0 500
1351E—<> [EE 990 149 0 149 0.15 0 0 0 0 130 0
(&) 990 149 0 149
1353[> Tk GH 10 10 0 10
1355|455 BERS 80 8 0 8 0.1 0 0 0 0 135 0
Eh 120 12 0 12
1411 | BEF (&) 60 24 24 0
1501 | H & e 16 80 0 80 5 0 0 0 1620 0 1296
(&) 16 80 0 80
1521| B =ik 8 40 0 40 5 0 0 0 3240 0 2700
(&) 8 40 0 40
1603[)L)— [REH 3 30 0 30 10 0 0 0 4860 0 4320
(&) 3 30 0 30
1609|70val)  [EF 3 18 0 18 6 0 0 0 0 4644 0
=% 5 40 0 40 8 0 0 0 0 5962 0
Gh 8 58 0 58
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1611[LER % 3 15 0 15 5 0 0 0 0 3888 0
E% 10 100 0 100 10 0 0 0 3564 0 3240
GhH 13 115 0 115
16124 =L AR [E% 5 25 0 25 5 0 0 0 0 3348 0
GhH 5 25 0 25
1627[S=F<F ED 96 19 0 19
1705| T A= GH 4 16 0 16
1715| K3 = 20 2 0 2 0.1 0 0 0 648 0 378
GhH 20 2 0 2
1803 | E EE 450 45 0 45 0.1 0 0 0 130 0 103
EE 690 138 0 138 0.2 0 0 0 0 77 0
& 1140 183 0 183
1807 |#B f=554 100 10 0 10 0.1 0 0 0 0 45 0
E% 1050 210 0 210 0.2 0 0 0 75 0 69
=% 240 72 0 72 0.3 0 0 0 0 86 0
[E)) 1390 292 0 292
1809[L&L E% 250 25 0 25 0.1 0 0 0 0 45 0
EF 1620 324 0 324 0.2 0 0 0 78 0 70
(&) 1870 349 0 349
1915|9126 mE 70 70 0 70 1 0 0 0 540 0 432
(&) 70 70 0 70
* S FAET * 16247 27026 496 26530
2307|275k [E)) 10 100 0 100
2611|EA—2  |EL 8 3 0 3 0.4 0 0 0 0 367 0
Eh 8 3 0 3
2616|SYAAL__ [fEM 10 50 0 50 5 0 0 0 0 6480 0
(&) 10 50 0 50
2731|F K GH 17 255 0 255
2821 |BIER EE 40 16 0 16 0.4 0 0 0 508 0 475
EE 72 36 0 36 05 0 0 0 313 0 281
Eh 112 52 0 52
* S EEET * 287 565 0 565




